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4, FETIEEEL T scroe =80.5 #score BRI IRE B > (int ~ float ~ str ~ bool)
fruit = “HE” #fruit (Y ERIIRE By o (int ~ float ~ str ~ bool)
a=b=c=20 - ¢ INERYRE £ o (int ~ float ~ str ~ bool)
test = true #test (BRI HIRE By > (int ~ float ~ str ~ bool)

5. BB ARAl - SECRIEABHBEAEZE L ‘ H3Z : JEE4R

6. Str2="FEHE  "IRLF o print(Str2)fFEIVEERE 1 FEER IR °

7. Str3="HELGR L print(St3)REIRVEEIRE 1 IR R
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Name = “K.O.N” HITEER © KON HYEK4E By 80
Score = 80

print(“%s HYEY4E 5 %d” %(Name,Score))

10.
Name = “K.O.N” HITEERE © KON Y7805 80

Score = 80

print(“{} BV R {Y .format(Name,Score))
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K = int(input(“z5#m AFEIE N EEL))
Print(“ZE 2 Fj="+str(70+(K-1)*30)




